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Figure S1: Theoretical squared bias, variance, and mean squared error of the estimators Ĥfull (A),

Ĥred (B), H̃ (C), and H̃BLUE (D), calculated at each of 645 loci (0.5212 ≤ H ≤ 0.9301) in the
MS5795 dataset for 60 individuals wherein each individual was related to exactly one other. The
relatedness of the sample was fixed at 10 inbred full-siblings (Φ = 3/8), 10 outbred full-siblings
(Φ = 1/4), and 10 outbred avuncular pairs (Φ = 1/8). The curve in the squared bias panel of
(A) is described in Equation A10. See Supplementary Data for the true expected heterozygosity
values incorporated into those calculations.
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